

UPM Alumni e-Newsletter

Issue 31 (Jan-March 2024)













Serdang, Jan 15th - The first series of the Sejam Bersama Alumni UPM (SEBA) podcast featuring guest panelist, Mr. Mohamad Sabrie Mohamad Salleh. Mr. Sabrie is a member of The Board of Directors of Universiti Putra Malaysia and also an alumnus of the UPM Class of 2009. A podcast recording hosted by Mrs. Aida Fitri Peli (Administration Officer ARCUPM) was held for an hour at a recording studio located in Galeri Putra, Canselori Building UPM.





"Berilmu Berbakti": Return of Alumni Through the MEKAR Program Series 15: Alumni Chapter Cyperus 92'

Serdang, January 20th - Alumni Relations Centre UPM (ARCUPM) in collaboration with Alumni Chapter Cyperus 92' organized *Menggamit Seribu Kenangan*: Alumni Reunion (MEKAR) Series 15: Alumni Chapter Cyperus 92' on 20 January 2024 at L'Apprenti UPM. This program serves as a platform for UPM alumni to return to their alma mater and reunite with their classmates or college mates.

Benchmarking Session with Alumni Centre, Universiti Utara Malaysia (UUM)

Serdang, January 29th - The Alumni Relations Centre of UPM (ARCUPM) extends sincere appreciation and gratitude to the Alumni Centre of Universiti Utara Malaysia (UUM) for their willingness to host the milestone session between ARCUPM and the UUM Alumni Centre. This virtual milestone session aims to facilitate the exchange of ideas on organizational management between the UUM Alumni Centre and ARCUPM. Managing data, information, and activities involving alumni is crucial to ensure continuous and fruitful relationships between alumni and their alma mater.







Serdang Sun Magazine Issue 24, 2023 Workshop

Serdang, February 5th - Workshop for Serdang Sun Magazine Issue 24 of 2023 was held at Bilik Menara Warisan Budi, Alumni Relations Centre UPM (ARCUPM). The magazine content refinement workshop is held with the aim of processing edits and proofreading of magazine article content, as well as arranging the layout of magazine content and photos before the printing process is carried out. This workshop also serves to review the suitability of the magazine's front cover that will be published.





MEKAR Series 16: UPM Alumni Entrepreneurs

Serdang, February 6th - The UPM Alumni Relations Center (ARCUPM) organized Menggamit Seribu Kenangan: Alumni Reunion (MEKAR) Series 16th: UPM Alumni Entrepreneurs program on 6 February 2024 at the Uniputra Golf Club. The program successfully gathered approximately 20 entrepreneurs among the UPM Alumni community. Among the alumni entrepreneurs present was Mr. Sabrie Salleh (Member of the Board of Directors of Universiti Putra Malaysia).

Read More

Garland of Appreciation to UPM Alumni: Putra Cakna Alumni Care Heart to Heart (H2H) Laptop Assistance for UPM Students in Need

Serdang, February 7th - Alumni of Universiti Putra Malaysia (UPM) expressed concern about the welfare of students therefore they started an initiative called PUTRA CAKNA Alumni Care: Heart to Heart (H2H) to provide laptops to students in need. The surplus donation collection session held symbolized the conclusion of this campaign.



MEKAR Series 18: Reunion Class of AgriSc. 94'

Serdang, February 17th - MEKAR Series 18: Reunion Class Of AgriSc 94' program in collaboration with the UPM Alumni Relations Center (ARCUPM) was held at Balai Minda, Kolej SUltan Alaeddin Suleiman Shah (KOSASS). 22 alumni who graduated with Bachelor of Science Agriculture Class of 1994 were reunited through this program. MEKAR Series 18 was led by Tuan Haji Mat Amin who is one of the scholarship sponsors for AGriSc. 94'. Tuan Haji Mat Amin is very active in every program that involves alumni, students, and the university.







Yayasan Ade Azhar Donates Al-Quran in conjunction with the Musaadah Ramadan 4.0 Program

Serdang, Mac 21st - The Ade Azhar Foundation, in collaboration with the UPM Alumni Relations Centre (ARCUPM), has organized the donation of Qurans in conjunction with the Musaadah Ramadan 4.0 Program. The Ade Azhar Foundation has handed over a total of 660 new copies of the Quran to be distributed to nearby

Read More

Ihya' Ramadan Program: Alumni Chapter YOSH with the Faculty of Education's Student Representative Council

Serdang, March 21st - Ihya' Ramadan Program: UPM YOSH Alumni Chapter together with the Faculty of Education's Students Representative Council (FEDSSCO) conducted the distribution of porridge at the courtyard of the Faculty of Education (FPP) through a drive-thru system. The opening ceremony was officiated by the Vice-Chancellor of UPM, YBhg. Dato' Professor Dr. Ahmad Farhan Mohd Sadullah. Also on hand were Assoc. Prof. Dr. Wan Marzuki Wan Jaafar, Dean of the Faculty of Education, and Mr. Fahmi Azar Mistar, the Deputy Director of the UPM Alumni Relations Center (ARCUPM).







BIASISWA ALUMNI (DIPLOMA) RM 15,000.00

Elaun Yang Termasuk Dalam Penajaan

Bayaran Yuran & Elaun Sara Diri

Elaun Latihan Industri

Elaun Jubah Konvokesyen

Pecahan Penajaan Berkelompok

PECAHAN PENAJA

RM 50.00/BULAN

Komitmen Seorang IEM 50.00 x 30 Bulan Jumlah Searang RM 1,500.00

PECAHAN PENAJA

RM 25.00/BULAN

Komitmen Seorang RM 25.00 x 30 Bulan Jumioh Seorang RM 750.00

PECAHAN PENAJA

RM 16.67/BULAN

Komitmen Secrang RM 16.67 x 30 Bulan Jumlah Searang RM 500.00

UPM

PUSAT PERHUBUNGAN ALUMNI

Hanya Dengan RM 50.00/Bulan, Anda Boleh Menaja Pelajar UPM

Insentif Kepada Penaja

- Pelaponon culos di bossofi Sakayan 44(6) i Alato Culosi Pendoposon 1976. (No kujukon 1HDK 014/36/42/6/(1/1796 6017)
- Pendja diberman keutamaan dalam memilih
- Huong kion disediation di dalam seliap program ARCSPM
- Satu dot pengidanan syarkat disedakan dalam penerbitan Majalah Serdang Sun
- Dijemput untuk Majis Makan Makam Sich Pulong ke Gogana@Homecoming

Untuk Maklumat Lanjut, Sila Hubungi:

ARCUPM En. Norfarhan Pn. Aida Farhana

: 019 735 9677 : 010 836 0072

Bersama Berbakti Kepada Alma Mater

Breen Dr.



BIASISWA ALUMNI (IJAZAH) RM 30,000.00

Elaun Yang Termasuk Dalam Penajaan

Bayaran Yuran & Elaun Sara Diri

Elaun Latihan Industri / Projek Tahun Akhir

Elaun Jubah Konvokesyen

Pecahan Penajaan Berkelompok

PECAHAN PENAJA

RM 62.50/BULAN

Komitmen Seorang RM 62.50 X 48 Bulan Jumlah Searang RM 3,000.00

PECAHAN PENAJA

RM 31.30/BULAN

Komitmen Seorang RM 31.30 x 48 Bulan Jumioh Seorang RM 1,500.00

PECAHAN PENAJA

UPM

RM 20.90/BULAN

Komitmen Seorang RM 20.90 x 48 Sulan Jumlah Seorang RM 1,000.00

PUSAT PERHUBUNGAN ALUMNI

Hanya Dengan RM 62.50/Bulan, Anda Boleh Menaja Pelajar UPM

Insentif Kepada Penaja



Pelaposan sukol di basedh Sekayen 44(5) Abia Cukali Pendapohan 1976. (No kujukan: UHDK 014/35/42/61/1/1786 6017)



Pensija diberikan keutamaan dalam memilih



Huring Mort disediation of dolors setting program ARCUPM



Satu slot pengiklaran nyankat disediakan dalam penerbitan Majalah Serdang Sun



Senara homo penyumbang diumni akan dipaparkan dalam Majalah Serdang Sun



Dijemput untuk Majilis Makan Malam Sirih Pulong is Regang@Homecoming



Untuk Maklumat Lanjut, Sila Hubungi:

ARCUPM

En. Norfarhan Pn. Aida Farhana

: 019 735 9677 : 010 836 0072

Bersama Berbakti Kepada Alma Mater

Britain Direct



Alumni Relation Centre Universiti Putra Malaysia

Office of Deputy Vice Chancellor (Research and Innovation), Universiti Putra Malaysia, 43400 Serdang, Selangor, Malaysia







You received this email because you signed up on our website or made a purchase from us.

Unsubscribe

